



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{5}\right)^2 =$$

$$\left(3 + \frac{1}{3}\right)^2 - \frac{1}{3} - 2^2 \times \frac{2}{3} =$$

$$\left(\frac{3}{2} + \frac{1}{5}\right)^2 + \frac{2}{5}\left(\frac{2}{5} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 - \frac{1}{5}\left(\frac{1}{2} + \frac{1}{5}\right) =$$

$$\left(4 + \frac{1}{2}\right)^2 + \frac{1}{3} \times \frac{1}{6} + 4^2 =$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{4} + 4^2 - \frac{1}{2} =$$

$$\left(\frac{1}{4} - \frac{2}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{5} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(5 - \frac{2}{5}\right)^2 + \frac{3}{5} \times \frac{3}{4} \times 3^2 =$$

$$\left(\frac{2}{5} + \frac{1}{4}\right)^2 + \frac{2}{3}\left(\frac{1}{3} + \frac{1}{2}\right) =$$

$$\left(\frac{1}{4} - \frac{1}{5}\right)^2 - \frac{1}{2}\left(\frac{1}{2} - \frac{1}{4}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{5}\right)^2 = \left(-\frac{137}{675}\right)$$

$$\left(3 + \frac{1}{3}\right)^2 - \frac{1}{3} - 2^2 \times \frac{2}{3} = \frac{73}{9} = 8\frac{1}{9}$$

$$\left(\frac{3}{2} + \frac{1}{5}\right)^2 + \frac{2}{5}\left(\frac{2}{5} - \left(\frac{2}{5}\right)^2\right) = \frac{1493}{500} = 2\frac{493}{500}$$

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 - \frac{1}{5}\left(\frac{1}{2} + \frac{1}{5}\right) = \frac{31}{20} = 1\frac{11}{20}$$

$$\left(4 + \frac{1}{2}\right)^2 + \frac{1}{3} \times \frac{1}{6} + 4^2 = \frac{1307}{36} = 36\frac{11}{36}$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{4} + 4^2 - \frac{1}{2} = \frac{1351}{36} = 37\frac{19}{36}$$

$$\left(\frac{1}{4} - \frac{2}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{5} + \left(\frac{1}{3}\right)^2\right) = \frac{79}{240}$$

$$\left(5 - \frac{2}{5}\right)^2 + \frac{3}{5} \times \frac{3}{4} \times 3^2 = \frac{2521}{100} = 25\frac{21}{100}$$

$$\left(\frac{2}{5} + \frac{1}{4}\right)^2 + \frac{2}{3}\left(\frac{1}{3} + \frac{1}{2}\right) = \frac{3521}{3600}$$

$$\left(\frac{1}{4} - \frac{1}{5}\right)^2 - \frac{1}{2}\left(\frac{1}{2} - \frac{1}{4}\right) = \left(-\frac{49}{400}\right)$$